
 

Dynamic Programming

Coin Change problem

Coins 1,5 1.0 25 100

You must make 273 in the fewest number

of coins

what would a geeky algorithm
do

Is greed always correct

coins I 6 3

make

1 5 11 20 50



What would Dynamic Programming do

coin denoms are da da da
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dn
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di is max
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yin
It LeastCoins K di i

we can use Leastcoins K i 1
in making
change K
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We are interested in LeastCoins Amount n
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Dynamic Programming Dance Contest

Input carrots or É

II

skip 5 t ii

danceÉccraeineachonemandhowmachrest

you will need in which case you will need to

IskipI a certain number of dances

We take Skip i to mean we can

go on to the it I dance if it exists



Dance i Points i Max DanceCit Skip it

Don'tDance it SkipLi

Don't Dance if

for you to do


